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@ V3(2V5+ V3)=2V15+3

© (V24-V12)+ V3= 1+2-1

© 4v2-V2(3-6V2) =10vV2- V6

® V2(2V3+4) - V3(V2- V6) = V6 +7V2
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O (V24- V12)+ V3=2v2-2
©®4V2- V2(3-6v2) = V2 +12
@ V2(2V3+4) - V3(V2 - V6)
=2V6+4v2- V6 +3V2
= V6+72
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A5 +3V2+3x-y=2V2x- V2y-3
ghe Fstofet.
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5+3V2+3x—y=2V2x— V2y-3
(5+3x-y+3)+(3-2x+y) v2=0

3r—y=-8
+) ~2zty=-3

z =-11, y=-25
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T AE 2] Hol9] g2

4( VA8 + V45 + V27) = 4(4V3 +3V5 +3V3)
= 4(7V3 + 3V5)
=28V3+ 125




T. 7<A10x<9Q AAE x 2] A4S F5hoat.

7< V10x <9, 49 < 10x < 81
wepA A4 x =5, 6, 7, 8




8. TS AFTENA V3439 2 a, V254 9 g2 b 2t T o,
a+b o g-& Tt

Eal 0 1 2 3 4 5
25 [5.000(5.010(5.020|5.030(5.040|5.050
26 15.099|5.109(5.119(5.128|5.138|5.148
27 |5.196|5.206(5.215|5.225(5.235|5.244
28 15.29215.301(5.310(5.320(5.329(5.339
29 |5.385|5.394|5.404|5.413|5.422|5.431
30 |5.477|5.486(5.495|5.505(5.514(5.523
31 |5.568(5.577|5.586|5.595|5.604|5.612
32 |5.657|5.666(5.675|5.683(5.692|5.701
33 |5.745|5.753(5.762|5.771(5.779|5.788
34 |5.831|5.840(5.848|5.857|5.865|5.874

> E:

> ®ehl a+b=10.897

a=5.857, b=15.040
s.a+b=5857+5.040 = 10.897




oA V5 =2236 4 i, V0.45 & & F5toiet.

AEFTE
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> ®eh: 0.6708

15 45
V045 = ) — = —=
045 100 10
~ V5x 32 3x2236
10 10

= 0.6708




10. V59 &% RES x, V10 9 &5 RES y 2t o o,
kg Fotofet
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V5=2... o]B& 5 9]

10=3..-- °]B2 10
LoV2x—y = V2(V5-2) - (V10 - 3)
= V10-2v2- V10 +3
=-2v2+3




